S	Summary of Proposals Rec	ceived	ł		Project:	Maintenan	ce of Turf and	Landscap	e Re-Bid						
	Bid Opening				Contract No	. N/A									
Date:	3/9/2017				Project No	. 1259									
Place:	Captial Facilities Conference Room			Wolve	rine Supply Inc.	G & S Manag	ement Service LLC	Environme	ntal Remedies LLC	Americar	n Landscaping	Prosser-Dag	g Construction CO LLC	X-DLX I	nvestments Inc
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Bid Sc	hedule - A: Spring Clean Up of Turf a	nd Land:	scape												
1	Civic Center (Approximately 0.33 acres)	1	LS	N/A	\$200.00	N/A	\$202.82	N/A	\$4,000.00	N/A	\$350.00	N/A	\$3,500.00	N/A	\$256.00
2	Ruth Pond (Approximately 1.54 acres)	1	LS	N/A	\$250.00	N/A	\$946.47	N/A	\$5,000.00	N/A	\$1,550.00	N/A	\$2,500.00	N/A	\$1,200.00
3	City Hall (Approximately 0.65 acres)	1	LS	N/A	\$330.00	N/A	\$399.49	N/A	\$4,000.00	N/A	\$400.00	N/A	\$2,500.00	N/A	\$480.00
4	Consortium Library (Approximately 0.29 acres)	1	LS	N/A	\$330.00	N/A	\$178.23	N/A	\$2,000.00	N/A	\$275.00	N/A	\$2,000.00	N/A	\$230.00
5	Valdez Museum on Egan (Approximately 0.58 acres)	1	LS	N/A	\$350.00	N/A	\$356.46	N/A	\$4,000.00	N/A	\$500.00	N/A	\$2,000.00	N/A	\$450.00
6	Barney Meyring Parkstrip North & South (Approximately 15.27 acres)	1	LS	N/A	\$3,100.00	N/A	\$9,384.85	N/A	\$20,000.00	N/A	\$2,135.00	N/A	\$16,000.00	N/A	\$10,800.00
7	Black Gold Parkstrip (Approximately 5.98 acres)	1	LS	N/A	\$2,100.00	N/A	\$3,675.27	N/A	\$10,000.00	N/A	\$1,050.00	N/A	\$7,500.00	N/A	\$4,200.00
8	Teen/Recreation Center (Approximately 0.61 acres)	1	LS	N/A	\$400.00	N/A	\$374.90	N/A	\$4,000.00	N/A	\$265.00	N/A	\$2,000.00	N/A	\$450.00
9	Gold Fields Complex (Approximately 5.1 acres)	1	LS	N/A	\$1,550.00	N/A	\$3,134.43	N/A	\$5,000.00	N/A	\$400.00	N/A	\$4,000.00	N/A	\$3,600.00
10	Senior League Field at Airport Park (Approximately 2.58 Acres)	1	LS	N/A	\$1,250.00	N/A	\$1,585.65	N/A	\$4,000.00	N/A	\$310.00	N/A	\$2,000.00	N/A	\$1,800.00
11	Valdez Memorial Cemetery (Approximately 3.5 acres)	1	LS	N/A	\$650.00	N/A	\$2,151.08	N/A	\$7,000.00	N/A	\$1,600.00	N/A	\$5,000.00	N/A	\$2,500.00
12	Senior Center (Approximately 1.23 acres)	1	LS	N/A	\$800.00	N/A	\$755.95	N/A	\$4,000.00	N/A	\$330.00	N/A	\$3,000.00	N/A	\$900.00
13	Robe River Park (Approximately 0.40 acres)	1	LS	N/A	\$1,050.00	N/A	\$245.84	N/A	\$2,000.00	N/A	\$225.00	N/A	\$1,500.00	N/A	\$300.00
14	T-Ball Field to paved path (Approximately 0.94 acres)	1	LS	N/A	\$750.00	N/A	\$577.72	N/A	\$2,000.00	N/A	\$225.00	N/A	\$1,500.00	N/A	\$700.00
15	North Harbor Drive Plazas (Approximately 0.05 acres)	1	LS	N/A	\$320.00	N/A	\$30.73	N/A	\$500.00	N/A	\$75.00	N/A	\$1,500.00	N/A	\$70.00
	Kelsey Dock Uplands (Approximately 0.57 acres)	1	LS	N/A	\$1,600.00	N/A	\$350.32	N/A	\$3,000.00	N/A	\$270.00	N/A	\$3,000.00	N/A	\$400.00

S	summary of Proposals Rec	ceived			Project:	Maintenan	ce of Turf and	Landscap	e Re-Bid						
	Bid Opening				Contract No	. N/A									
Date:	3/9/2017				Project No	. 1259									
Place:	Captial Facilities Conference Room			Wolve	rine Supply Inc.	G & S Manag	ement Service LLC	Environme	ental Remedies LLC	America	n Landscaping	Prosser-Dag	g Construction CO LLC	X-DLX I	nvestments Inc
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
17	Kayak Launch (Approximately 0.007 acres)	1	LS	N/A	\$350.00	N/A	\$4.50	N/A	\$250.00	N/A	\$72.00	N/A	\$500.00	N/A	\$50.00
18	Dog Park and surrounding green space (Approximately 2.3 acres)	1	LS	N/A	\$3,100.00	N/A	\$1,413.57	N/A	\$2,000.00	N/A	\$270.00	N/A	\$5,000.00	N/A	\$1,600.00
19	Pioneer Cemetery (Approximately 0.57 acres)	1	LS	N/A	\$1,100.00	N/A	\$350.32	N/A	\$2,000.00	N/A	\$565.00	N/A	\$2,500.00	N/A	\$500.00
20	Corbin Creek Playground (Approximately 0.14 acres)	1	LS	N/A	\$350.00	N/A	\$86.04	N/A	\$500.00	N/A	\$135.00	N/A	\$1,000.00	N/A	\$150.00
21	Alpine Woods Park (Approximately 1.05 acres)	1	LS	N/A	\$550.00	N/A	\$645.32	N/A	\$3,000.00	N/A	\$225.00	N/A	\$1,500.00	N/A	\$800.00
22	Veterans' Memorial (Approximately 0.2 acres)	1	LS	N/A	\$550.00	N/A	\$122.92	N/A	\$250.00	N/A	\$225.00	N/A	\$1,200.00	N/A	\$200.00
	Total of Bid Schedule - A				\$21,030.00		\$26,972.88		\$88,500.00		\$11,452.00		\$71,200.00		\$31,636.00
Bid	Schedule - B: Mowing and Trimming Landscape	of Turf a	nd												•
1	Civic Center (Approximately 0.33 acres)	22	ea	\$220.00	\$4,840.00	\$116.67	\$2,566.74	\$150.00	\$3,300.00	\$215.00	\$4,730.00	\$400.00	\$8,800.00	\$60.00	\$1,320.00
2	Ruth Pond (Approximately 1.54 acres)	22	ea	\$350.00	\$7,700.00	\$211.14	\$4,645.08	\$150.00	\$3,300.00	\$995.00	\$21,890.00	\$525.00	\$11,550.00	\$170.00	\$3,740.00
3	City Hall (Approximately 0.65 acres)	22	EA	\$140.00	\$3,080.00	\$141.66	\$3,116.52	\$100.00	\$2,200.00	\$255.00	\$5,610.00	\$350.00	\$7,700.00	\$90.00	\$1,980.00
4	Consortium Library (Approximately 0.29 acres)	22	ea	\$115.00	\$2,530.00	\$113.55	\$2,498.10	\$50.00	\$1,100.00	\$170.00	\$3,740.00	\$350.00	\$7,700.00	\$75.00	\$1,650.00
5	Valdez Museum on Egan (Approximately 0.58 acres)	22	ea	\$130.00	\$2,860.00	\$136.19	\$2,996.18	\$100.00	\$2,200.00	\$170.00	\$3,740.00	\$350.00	\$7,700.00	\$80.00	\$1,760.00
6	Barney Meyring Parkstrip North & South (Approximately 15.27 acres)	18	ea	\$750.00	\$13,500.00	\$1,192.19	\$21,459.42	\$300.00	\$5,400.00	\$1,360.00	\$24,480.00	\$700.00	\$12,600.00	\$980.00	\$17,640.00
7	Black Gold Parkstrip (Approximately 5.98 acres)	18	ea	\$330.00	\$5,940.00	\$557.79	\$10,040.22	\$200.00	\$3,600.00	\$680.00	\$12,240.00	\$350.00	\$6,300.00	\$550.00	\$9,900.00
8	Teen/Recreation Center (Approximately 0.61 acres)	22	ea	\$140.00	\$3,080.00	\$47.63	\$1,047.86	\$100.00	\$2,200.00	\$170.00	\$3,740.00	\$200.00	\$4,400.00	\$100.00	\$2,200.00

S	ummary of Proposals Re	ceived			Project:	Maintenar	nce of Turf and	Landscap	e Re-Bid					311	
	Bid Opening				Contract No	. N/A									
Date:	3/9/2017				Project No	. 1259									
Place:	Captial Facilities Conference Room			Wolver	rine Supply Inc.	G & S Manag	gement Service LLC	Environme	ntal Remedies LLC	America	n Landscaping	Prosser-Dag	gg Construction CO LLC	X-DLX II	nvestments Inc
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
9	Gold Fields Complex (Approximately 5.1 acres)	18	ea	\$320.00	\$5,760.00	\$489.09	\$8,803.62	\$250.00	\$4,500.00	\$255.00	\$4,590.00	\$450.00	\$8,100.00	\$540.00	\$9,720.00
10	Senior League Field at Airport Park (Approximately 2.58 Acres)	18	ea	\$300.00	\$5,400.00	\$292.34	\$5,262.12	\$150.00	\$2,700.00	\$195.00	\$3,510.00	\$300.00	\$5,400.00	\$340.00	\$6,120.0
11	Valdez Memorial Cemetery (Approximately 3.5 acres)	14	ea	\$475.00	\$6,650.00	\$273.26	\$3,825.64	\$100.00	\$1,400.00	\$1,020.00	\$14,280.00	\$750.00	\$10,500.00	\$390.00	\$5,460.0
12	Senior Center (Approximately 1.23 acres)	20	ea	\$220.00	\$4,400.00	\$186.94	\$3,738.80	\$150.00	\$3,000.00	\$210.00	\$4,200.00	\$300.00	\$6,000.00	\$120.00	\$2,400.0
13	Robe River Park (Approximately 0.40 acres)	14	ea	\$170.00	\$2,380.00	\$122.14	\$1,709.96	\$50.00	\$700.00	\$145.00	\$2,030.00	\$200.00	\$2,800.00	\$125.00	\$1,750.0
14	T-Ball Field to paved path (Approximately 0.94 acres)	3	ea	\$200.00	\$600.00	\$164.30	\$492.90	\$50.00	\$150.00	\$145.00	\$435.00	\$200.00	\$600.00	\$140.00	\$420.00
15	North Harbor Drive Plazas (Approximately 0.05 acres)	18	ea	\$70.00	\$1,260.00	\$94.81	\$1,706.58	\$50.00	\$900.00	\$85.00	\$1,530.00	\$200.00	\$3,600.00	\$50.00	\$900.00
16	Kelsey Dock Uplands (Approximately 0.57 acres)	22	ea	\$210.00	\$4,620.00	\$135.41	\$2,979.02	\$100.00	\$2,200.00	\$170.00	\$3,740.00	\$200.00	\$4,400.00	\$90.00	\$1,980.0
17	Kayak Launch (Approximately 0.007 acres)	6	ea	\$50.00	\$300.00	\$91.46	\$548.76	\$50.00	\$300.00	\$90.00	\$540.00	\$125.00	\$750.00	\$55.00	\$330.00
18	Dog Park and surrounding green space (Approximately 2.3 acres)	8	ea	\$450.00	\$3,600.00	\$270.48	\$2,163.84	\$100.00	\$800.00	\$170.00	\$1,360.00	\$650.00	\$5,200.00	\$320.00	\$2,560.0
19	Pioneer Cemetery (Approximately 0.57 acres)	8	ea	\$250.00	\$2,000.00	\$135.41	\$1,083.28	\$75.00	\$600.00	\$360.00	\$2,880.00	\$300.00	\$2,400.00	\$225.00	\$1,800.00
20	Corbin Creek Playground (Approximately 0.14 acres)	6	ea	\$170.00	\$1,020.00	\$90.91	\$545.46	\$50.00	\$300.00	\$85.00	\$510.00	\$225.00	\$1,350.00	\$110.00	\$660.00
21	Alpine Woods Park (Approximately 1.05 acres)	6	ea	\$300.00	\$1,800.00	\$172.89	\$1,037.34	\$100.00	\$600.00	\$110.00	\$660.00	\$500.00	\$3,000.00	\$180.00	\$1,080.0
22	Veterans' Memorial (Approximately 0.2 acres)	8	ea	\$100.00	\$800.00	\$91.16	\$729.28	\$50.00	\$400.00	\$110.00	\$880.00	\$150.00	\$1,200.00	\$80.00	\$640.00
	Total of Bid Schedule - B				\$84,120.00		\$82,996.72		\$41,850.00		\$121,315.00		\$122,050.00		\$76,010.0

S	Summary of Proposals Rec	ceive	t		Project:	Maintenar	ice of Turf and	Landscap	e Re-Bid						
	Bid Opening				Contract No.										
Date:	3/9/2017				Project No.	1259									
Place:	Captial Facilities Conference Room			Wolve	rine Supply Inc.	G & S Manaç	gement Service LLC	Environmer	ntal Remedies LLC	Americar	Landscaping	Prosser-Dag	gg Construction CO		nvestments Inc
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Civic Center (Approximately 0.33 acres)	3	ea	\$70.00	\$210.00	\$20.28	\$60.84	\$100.00	\$300.00	\$65.00	\$195.00	\$400.00	\$1,200.00	\$50.00	\$150.00
2	Ruth Pond (Approximately 1.54 acres)	3	ea	\$120.00	\$360.00	\$94.65	\$283.95	\$200.00	\$600.00	\$130.00	\$390.00	\$400.00	\$1,200.00	\$100.00	\$300.00
3	City Hall (Approximately 0.65 acres)	3	ea	\$70.00	\$210.00	\$39.95	\$119.85	\$100.00	\$300.00	\$80.00	\$240.00	\$400.00	\$1,200.00	\$60.00	\$180.00
4	Consortium Library (Approximately 0.29 acres)	3	ea	\$60.00	\$180.00	\$17.82	\$53.46	\$100.00	\$300.00	\$65.00	\$195.00	\$400.00	\$1,200.00	\$40.00	\$120.00
5	Valdez Museum on Egan (Approximately 0.58 acres)	3	ea	\$60.00	\$180.00	\$35.65	\$106.95	\$100.00	\$300.00	\$50.00	\$150.00	\$400.00	\$1,200.00	\$30.00	\$90.00
6	Barney Meyring Parkstrip North & South (Approximately 15.27 acres)	3	ea	\$800.00	\$2,400.00	\$938.48	\$2,815.44	\$500.00	\$1,500.00	\$1,350.00	\$4,050.00	\$1,700.00	\$5,100.00	\$800.00	\$2,400.00
7	Black Gold Parkstrip (Approximately 5.98 acres)	3	ea	\$300.00	\$900.00	\$367.53	\$1,102.59	\$300.00	\$900.00	\$520.00	\$1,560.00	\$800.00	\$2,400.00	\$300.00	\$900.00
8	Teen/Recreation Center (Approximately 0.61 acres)	3	ea	\$70.00	\$210.00	\$37.49	\$112.47	\$100.00	\$300.00	\$50.00	\$150.00	\$300.00	\$900.00	\$60.00	\$180.00
9	Gold Fields Complex (Approximately 5.1 acres)	3	ea	\$300.00	\$900.00	\$313.44	\$940.32	\$300.00	\$900.00	\$275.00	\$825.00	\$600.00	\$1,800.00	\$300.00	\$900.00
10	Senior League Field at Airport Park (Approximately 2.58 Acres)	3	ea	\$575.00	\$1,725.00	\$158.57	\$475.71	\$200.00	\$600.00	\$225.00	\$675.00	\$400.00	\$1,200.00	\$200.00	\$600.00
11	Valdez Memorial Cemetery (Approximately 3.5 acres)	3	ea	\$120.00	\$360.00	\$215.11	\$645.33	\$100.00	\$300.00	\$310.00	\$930.00	\$500.00	\$1,500.00	\$250.00	\$750.00
12 1	Senior Center (Approximately 1.23 acres)	3	ea	\$100.00	\$300.00	\$75.60	\$226.80	\$100.00	\$300.00	\$110.00	\$330.00	\$400.00	\$1,200.00	\$100.00	\$300.00
14	T-Ball Field to paved path (Approximately 0.94 acres)	3	ea	\$115.00	\$345.00	\$57.77	\$173.31	\$1.00	\$3.00	\$85.00	\$255.00	\$200.00	\$600.00	\$90.00	\$270.00
15	North Harbor Drive Plazas (Approximately 0.05 acres)	3	ea	\$30.00	\$90.00	\$3.07	\$9.21	\$50.00	\$150.00	\$65.00	\$195.00	\$200.00	\$600.00	\$30.00	\$90.00
	Kelsey Dock Uplands (Approximately 0.57 acres)	3	ea	\$115.00	\$345.00	\$35.03	\$105.09	\$100.00	\$300.00	\$50.00	\$150.00	\$400.00	\$1,200.00	\$60.00	\$180.00
	Veterans' Memorial (Approximately 0.2 acres)	3	ea	\$60.00	\$180.00	\$12.29	\$36.87	\$49.00	\$147.00	\$95.00	\$285.00	\$200.00	\$600.00	\$130.00	\$390.00

S	Summary of Proposals Re-	ceived	i		Project:	Maintenan	ce of Turf and	Landscan	e Re-Bid						
	Bid Opening				Contract No	Manager Co.		•							
Date:	3/9/2017				Project No	. 1259									
Place:	Captial Facilities Conference Room			Wolve	rine Supply Inc.	G & S Manag	ement Service LLC	Environme	ntal Remedies LLC	America	n Landscaping	Prosser-Dag	gg Construction CO		Investments Inc
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Total of Bid Schedule - C				\$8,895.00		\$7,268.19		\$7,200.00		\$10,575.00		\$23,100.00		\$7,800.00
Bio	Schedule - D: Watering of Turf and L	_andscap	ре												
1	Civic Center (Approximately 0.33 acres)	3	ea	\$200.00	\$600.00	\$50.00	\$150.00	\$10.00	\$30.00	\$165.00	\$495.00	\$270.00	\$810.00	\$50.00	\$150.00
2	Ruth Pond (Approximately 1.54 acres)	3	ea	\$300.00	\$900.00	\$75.00	\$225.00	\$50.00	\$150.00	\$760.00	\$2,280.00	\$625.00	\$1,875.00	\$80.00	\$240.00
3	City Hall (Approximately 0.65 acres)	3	ea	\$95.00	\$285.00	\$50.00	\$150.00	\$10.00	\$30.00	\$195.00	\$585.00	\$400.00	\$1,200.00	\$45.00	\$135.00
4	Consortium Library (Approximately 0.29 acres)	3	ea	\$95.00	\$285.00	\$50.00	\$150.00	\$10.00	\$30.00	\$130.00	\$390.00	\$270.00	\$810.00	\$45.00	\$135.00
5	Valdez Museum on Egan (Approximately 0.58 acres)	3	ea	\$115.00	\$345.00	\$70.00	\$210.00	\$10.00	\$30.00	\$130.00	\$390.00	\$400.00	\$1,200.00	\$40.00	\$120.00
6	Barney Meyring Parkstrip North & South (Approximately 15.27 acres)	3	ea	\$875.00	\$2,625.00	\$400.00	\$1,200.00	\$50.00	\$150.00	\$1,040.00	\$3,120.00	\$1,800.00	\$5,400.00	\$220.00	\$660.00
	Black Gold Parkstrip (Approximately 5.98 acres)	3	ea	\$480.00	\$1,440.00	\$250.00	\$750.00	\$50.00	\$150.00	\$520.00	\$1,560.00	\$900.00	\$2,700.00	\$220.00	\$660.00
8	Teen/Recreation Center (Approximately 0.61 acres)	3	ea	\$100.00	\$300.00	\$50.00	\$150.00	\$10.00	\$30.00	\$130.00	\$390.00	\$200.00	\$600.00	\$75.00	\$225.00
9	Gold Fields Complex (Approximately 5.1 acres)	3	ea	\$460.00	\$1,380.00	\$250.00	\$750.00	\$50.00	\$150.00	\$195.00	\$585.00	\$625.00	\$1,875.00	\$240.00	\$720.00
	Senior League Field at Airport Park (Approximately 2.58 Acres)	3	ea	\$300.00	\$900.00	\$175.00	\$525.00	\$50.00	\$150.00	\$150.00	\$450.00	\$400.00	\$1,200.00	\$240.00	\$720.00
12 1	Senior Center (Approximately 1.23 acres)	3	ea	\$175.00	\$525.00	\$100.00	\$300.00	\$10.00	\$30.00	\$160.00	\$480.00	\$400.00	\$1,200.00	\$70.00	\$210.00
13	Robe River Park (Approximately 0.40 acres)	3	ea	\$135.00	\$405.00	\$50.00	\$150.00	\$10.00	\$30.00	\$110.00	\$330.00	\$400.00	\$1,200.00	\$100.00	\$300.00
	North Harbor Drive Plazas (Approximately 0.05 acres)	3	ea	\$40.00	\$120.00	\$50.00	\$150.00	\$10.00	\$30.00	\$65.00	\$195.00	\$200.00	\$600.00	\$20.00	\$60.00
	Kelsey Dock Uplands (Approximately 0.57 acres)	3	ea	\$200.00	\$600.00	\$50.00	\$150.00	\$10.00	\$30.00	\$130.00	\$390.00	\$400.00	\$1,200.00	\$60.00	\$180.00

S	Summary of Proposals Re	ceived	1		Project:	Maintenan	ce of Turf and	Landscap	e Re-Bid					10 11	
	Bid Opening				Contract No.				2000 9000000						
Date:	3/9/2017				Project No.	1259									
Place:	Captial Facilities Conference Room			Wolve	rine Supply Inc.	G & S Manag	ement Service LLC	Environme	ntal Remedies LLC	America	n Landscaping	Prosser-Dag	gg Construction CO		nvestments Inc
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Total of Bid Schedule - D				\$10,710.00		\$5,010.00		\$1,020.00		\$11,640.00		\$21,870.00		\$4,515.00
	Bid Schedule - E: Aeration of Tu	urf													
6	Barney Meyring Parkstrip North & South (Approximately 15.27 acres)	1	LS	N/A	\$1,150.00	N/A	\$20.00	N/A	\$400.00	N/A	\$3,500.00	N/A	\$2,300.00	N/A	\$1,420.00
7	Black Gold Parkstrip (Approximately 5.98 acres)	1	LS	N/A	\$350.00	N/A	\$40.00	N/A	\$200.00	N/A	\$1,575.00	N/A	\$1,100.00	N/A	\$670.00
9	Gold Fields Complex (Approximately 5.1 acres)	1	LS	N/A	\$350.00	N/A	\$40.00	N/A	\$200.00	N/A	\$600.00	N/A	\$900.00	N/A	\$640.00
10	Senior League Field at Airport Park (Approximately 2.58 Acres)	1	LS	N/A	\$300.00	N/A	\$20.00	N/A	\$200.00	N/A	\$450.00	N/A	\$600.00	N/A	\$320.00
	Total of Bid Schedule - E				\$2,150.00		\$120.00		\$1,000.00		\$6,125.00		\$4,900.00		\$3,050.00
Bid Sch	nedule - F: Herbicide Application on Fo posts, Field and Walkways	encelines	s, Sign												
1	Civic Center (approx 40 sq ft under picnic shelters)	1	ea	\$120.00	\$120.00	\$50.00	\$50.00	\$120.00	\$120.00	\$95.00	\$95.00	\$400.00	\$400.00	\$50.00	\$50.00
6	Barney Meyring Parkstrip North & South (fence lines)	2	ea	\$280.00	\$560.00	\$100.00	\$200.00	\$25.00	\$50.00	\$750.00	\$1,500.00	\$650.00	\$1,300.00	\$150.00	\$300.00
7	Black Gold Parkstrip (playground border)	2	ea	\$300.00	\$600.00	\$100.00	\$200.00	\$10.00	\$20.00	\$250.00	\$500.00	\$100.00	\$200.00	\$150.00	\$300.00
9	Gold Fields Complex (fence lines walkways and infields)	4	ea	\$300.00	\$1,200.00	\$100.00	\$400.00	\$100.00	\$400.00	\$45,000.00	\$180,000.00	\$900.00	\$3,600.00	\$250.00	\$1,000.00
	Senior League Field at Airport Park (fence lines and infield)	4	ea	\$300.00	\$1,200.00	\$100.00	\$400.00	\$100.00	\$400.00	\$675.00	\$2,700.00	\$500.00	\$2,000.00	\$200.00	\$800.00
12	Senior Center (under roofline and drainage field)	2	ea	\$125.00	\$250.00	\$50.00	\$100.00	\$50.00	\$100.00	\$135.00	\$270.00	\$400.00	\$800.00	\$150.00	\$300.00
	Robe River Park (under fence lines and gravel edges)	4	ea	\$125.00	\$500.00	\$100.00	\$400.00	\$20.00	\$80.00	\$1,080.00	\$4,320.00	\$400.00	\$1,600.00	\$150.00	\$600.00
14	T-Ball Field (fence lines and problem areas of field)	4	ea	\$225.00	\$900.00			\$25.00	\$100.00	\$415.00	\$1,660.00	\$400.00	\$1,600.00	\$150.00	\$600.00

5	ummary of Proposals Red	ceived			Project:	Maintenar	nce of Turf and	Landscar	e Re-Bid							
	Bid Opening				Contract No											
Date:	3/9/2017]			Project No											
Place:	Captial Facilities Conference Room	es Conference Room Wolverine Supply Inc.		G & S Mana	G & S Management Service LLC Environmental Remedies LLC			America	American Landscaping		Prosser-Dagg Construction CO		nvestments Inc			
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
19	Pioneer Cemetery (around bases of head boards)	2	ea	\$400.00	\$800.00			\$20.00	\$40.00	\$3,500.00	\$7,000.00	\$700.00	\$1,400.00	\$150.00	\$300.00	
21	Alpine Woods Park (fence lines and voleyball court)	2	ea	\$200.00	\$400.00			\$20.00	\$40.00	\$850.00	\$1,700.00	\$500.00	\$1,000.00	\$150.00	\$300.00	
	Total of Bid Schedule - F				\$6,530.00				\$1,350.00		\$199,745.00		\$13,900.00		\$4,550.00	
	Addendum(s) Acknowledged				✓	✓		✓				√				
	Bid Bond				✓		√		✓		·	· ·			√	
	Alaska Contractor License				✓	✓ ✓ ✓		<i>'</i>		· · · · · · · · · · · · · · · · · · ·		√ √			· /	
	Alaska Business License				✓										· ·	
	Bidder's Experience Questionnaire				✓										/	
	Bidder's Equipment Questionnaire				✓		✓					√			√	
	Total Bid Per Year A-F			\$133,435.00		missing n	ago 0 of 0 of the	\$1	40,920.00	\$36	0,852.00	\$25	7,020.00	√		
	Total Bid Per Year A-F times 5			\$66	67,175.00		age 8 of 8 of the schedule		04,600.00		04,260.00		85.100.00		7,561.00	
	Local bidder preference 10%							***	. 1,000.00	Ψ1,00	54,200.00	\$1,20	55,100.00	\$63	7,805.00	
	Total Adjusted Bid													20		
	The bid totals are subject to correction	after the	bids hav	e been com	npletely reviewed	d.					1	/	\mathcal{M}			
	Totals have been reviewed Totals have been corrected	✓								I herel	by certify that the	above is a fru	e and correct ou	hmany of pre	nosals ross	